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Chemistry 11
MULIPLE UNIT CONVERSIONS

In our last lesson we learned how to do SIMPLE UNIT CONVERSIONS, today
we are going to investigate more complicated problems.

Ex.1 If Tim Hortons® donuts are$5.35/doz, and there are 12 donuts/doz,
how many individual donuts can be bought for $21.407

C= & donui
A= 42140

B = this time there are multiple conversion factors:

4 525/ ooy = \;ldavxuj%/i. 4%,

PUT IT ALL TOGETHER
3 dooke = Aa| o  L2F A dots - |46 dont |
#5.35 1 deg

Ex 2. How many seconds are there in a 365 day calendar year?
C=+ 5

A= 265 C\G\%

B = this time there are multlple éonv?-rsnon factors:

PUT IT ALL TOGETHER U%
\ éo €
52 365 o, 2B ~fﬁ’-‘“f*
| /5, 3{5}3@& /




Ex. 3. The gas tank of a Canadian car holds 39.5 L of gasoline. If 1 L of

gasoline is equal to 0.264 gal (gallons) and th prlce f gas at the pump in
" Blaine, Washington is $2.65 US/gal. What is t efcost f filling up an empty

Canadian Car if $1US = $1.30 CDN?

C= # Hc=xo

A= s
B = this time there are multiple conversion factors:

1L [o204 %ﬁt/ﬁa(g us [1 caov@ /iﬂ iug/ii) TN

PUT IT ALL TOGETHER

HPheod = 29.5 Ly sz—fi( faosos #1200
4L 1 gal 11 os
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Seatwork/Homework: Exercises 3 — 10
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